E .
4 >
K il<]| |« s
o ; :
= S F x e
Em S 5 - &
g 2|~ 3 =g 2
7] T 2
NE 2 K g (\ef-© ol
g 3 & = 518
S £ : 8s]| |- e
—I,_uL < o fa¥e) ule
N3 ] -~ 3|8
o o) b
‘ o - S 2le
i < o & 5|2
° a) © 8| S s|®
5 o) S |
g LL = = A
= © < K 5|0
> s 5o 25 =
- z £§ 8 —
= ol = S5 &
L ! o} g8 =
= =] E L m m1 oL <
L Sz - i
= R NANn = wl o o
‘ I3 o 2
M k ~ _ E a (@] o
CI) I g > - gl g
LI — Y e 3 L =S 5 — sl 2
— o =l <X < = —_ - N
%) & 2 T % e ¢ < 3z 5 _ )
—» 2 3 T T % | & &% <o > © z _
Z — 2 2 % 5 R & B @ = &) 39 = o o 2 81| |33
: &) Q e) g — — < ol Q9
= WSRO <lgz2gs ! = NE 7 < 5 = > rsiBHE
0 e 2 g 2 3 9w T & M=z, 2 @ T Qs o - ~ 2 2 3
g w
— 2% 2 § 3 % ¢ g g3t g E b i S c >
O 2 Ng 2 A & <o @ Q35 |(O = 53 %) o 1O 5 o
= 2 o < b W D ~ " N < X ~— o © <
e o R NECg B iE RN g £ g2 gy |W 3 & L o) o 5 o[> 55
o, Q © ) < ¥ O b4 w v = 3
a ORI AR R AR ZI2ygysg | g o = © %) i o A
< & ¢ 5 8 % 5 % & e sese ™ i g < — s
: 2) ) > NN — = —
— 2 =) 2 5 @ € X G _ W _ W o © e , 2 > < T ol = =
U @ g o Q X @ € 3 m ZzZ © Zz O 4, Ll o O © > > £l O .
..@\0 = o) * ) € = E < < 5 n = (o) 3| Q | <
Q = g <, 2 % 2 € 2 ¥R ¥ Q @r o @) = w el ©
o) o 2] <2} T - I |- I x <C
= 2 2 —l < @) = 2| w
= o =3 & 53] € R N O <
_— 2 5l gl 2 w Y =2 = -
Ry - _ L Z2 ok ) N
€ * w O [T —_ %}
g | o © g
: x > . > o el = 2
x 5 = O W © o = 5
y O — 7)) = Cl o 2 2
& [ F - < @) @ gl &
N < E w Z L o x o 2
— I =
< i 2 = =0 S 8 |g gl 5
U | = o O < £ Q o N ©
L o = ~ O — n S |[E|e23 —|w|g| &
o Q
Z S O N w << |y @ © zls Q= % 5|°
= x 5 < D) Q £ |3/£0z gl w ||y
o I O K S 98¢y 3 < 2
= o O S IR E £
= 2 i L O] < = < £ 2O ||k )
3 b W z W r @ « s i o ) &
o) = w < 1 + O o o g |z S =
(@) < O O] o [v4 < M
3
o
w| x N0 e
—_z|lo MRS
80 0w o
N D
mm o
el n0g
% Mo
Tne
o ] o
(@] o
< |88%¢ 33¢|88¢
) 3.n0 3.%0 3..“0
> & AN Tol|hnd
< o | oo
(@] (@] o
Tl<|8aF RO E(R8E
< n|xRo MR oMo
=z < Sol|fdnd
]
w o n.wo 39
5 WHw? x|22¢ T8 E
= b Y <~ N
= RmH 2B P
— o Wig! s =
— 8 oY |22 5 (S5 a0 E
a DN )
3 2] N < N
% Y| = QR B~
| |
J1 ......... 42— - _ 1+018.23 B =< 50 m _.DHW. m
[al ok Ne) ‘o] o
S~ S0 =
<|3 [ [F%C i
1S .
“— : # ‘ . - — 1+000.00 Dm 5 uwm %%m
<+ <+ 00
B - ol I
o o
A_..._BX DB R
z2|8|oo £ o E
TOH Mg N non N
N | <+ N0~
40 — : - : - — 0+975.00 Wnlo_ :O_uw) :O_unou)
X358 E SIS E
N0 |2A § V5N
T MM( B~
" — | —~
el € Oom
«|[28w 530
= O|lmo @ . Ne)
_ 00 2 o
— 0+950.0 2 W_M@ :5u7mc|w
39 — = =
o~ - E -
/ Tl :Ou:Oum RSP
0 INO ¥ ™~
338 aee
rLdl VIAL [ ML
o |o
< |2 (w) »d
T
38— OLLVdl ¥3d 3INOISN3ILS3
-
37—
36—
35 —
34 —
1 m
€5
a ™
<
m9
\A\

.. - 52
21 — &3
E'p= 3
58k L2
@) Ho g ¢
~T S s
HL/hl.v\lw s
ias%%ﬂﬂ“ﬂg—a
AU\ ot
V Gﬁ“ o %
26 —
—_
m
o~
T
|
—_
o
M
T
L
=
=)
N
2€
z5
=
a E
m o
=
el
x g

-
=

o
4 e
e
— =
g =

&
e
fl
)

PLANIMETRIA DI PROGETTO BARRIERE DI SICUREZZA IR1J sca 11000
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TRANSIZIONE
H4 BP — H3 BL
. — 0+175.00

. — 0+225.00
. — 0+200.00

-~

- — 0+275.00
. — 0+250.00
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